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Cluster: 0140 ptr; resid: 0.20; r/c: 23/75

x.range

upstream meme PSSM #1; e=240
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12533

12807

19000

31683

1326518872

36347

51811

15068

41746
11048

42483

43209

43443

43737

44770

44908

46411
48966

49288

54952

549569210

string −500 −400 −300 −200 −100 −1
11048−0.03
31683−0.07
12807−0.13
43443−0.18
13265−0.36
46411−0.45
36347−0.69
43737−1.05
44908−1.33
41746−1.51
42483−1.81
12533−2.13
44770−2.31
19000−2.66
51811−2.68
54952−3.88
15068−4.02
48966−5.19
43209−5.84
49288−6.02
54956−6.72
18872−7.12

9210−9.25
log10(P) upstream meme1 2 log10(P.clust)=−2.84; 23 seqs; 23 uniq

c(0.5, 2.5)
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